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[Ene: Section: Reg. No.
One Mark Test - 1
Standard XI
MATHEMATICS
Time : 1.00 hr. Marks : 60
Choose and write the correct answer : 50x1=50
1. The range of the function :i;; is
1 1
a), (-, -Duv (gs °°) b) (_1’ g]
1 ‘ ]
c) [_1, _3_] d) (-, -V [5, oo)
2. The number of relations on a set contailﬁng 3 elements is
a) 9 b) 81 c) 512 * d) 1024
3. For non—empty sets Aand B, if A c B then (AxB) [ (Bx A) equal
a) A(B b) AxA c) BxB . d) none of these
4. If n(A)=2 and n(BUC) =3, then n[(AxB)U(AxC)] is
a) 2° b) 32 - ) (D d) 5
5. Let X ={1, 2,3, 4}, R ={(1, 1), (I, 2) (1, 3), (2 2), (3, 3), (2, ), 3, 1), (1, 4), (4, )} thenRiis
a) Reflexive b) Symmetric ¢) Transitive d) Equivalence
6. !f the function f :[-3, 3] —> S defined by f(x)=x” isonto, then Sis
a) [-9,9] b) R ¢) [-3, 3] d) [0, 9]
7. The function f : R —» R isdefined by f(x) =sinx +cosx is
a) anodd function b) neither an odd function nor an even function
¢) aneven function d) both odd function and even function
8. The function f :[0, 2n] = [-1, 1] defined by f(x)=sinx is
a) one-to-one b) onto c) bijection d) cannot be defined
9. The number of constant functions from a set containing m elements to a set containing n elements is
a) mn b) m ‘ ¢) n d) m+n
10. Let f : R = R bedefined by f(x)=1-|x|. Then the range of f is !
a) R | b) (I, ) €) (-1, ) d) (~oo, 1]
1. IfA={(x,y):y=¢e",xeR}and B={(x, y): y=¢™", xR} then n(AnB) is
a) infinity b) 0 ¢ 1 d) 2
12. If A={x,y} :y=sinx,xeR} and B={x, y} :y=cosx, x € R} then A N B contains
a) noelement ' b) infinitely many elements
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13. Let A and B be subsets of the universal set N, the set of natural numbers, then A'U[(ANB) BT is
a) A b) A’ c)B _ d) N D
14. If n ((AxB)N(AxC))=8 and n(BNC)=2,then n(A) is
a) 6 b) 4 98 d) 16 ]
15. The range of the function f(x) = H_)’(J—xll, xR is
a) [0, 1] b) [0, =) ¢) [0, 1) d) 0,1
16. Therule f(x)=x isa bijection if the domain and the co-domain are givénby
& RR b) R. (0, ) ¢) (0, ©), R d) [0, ), [0, )
17. Let R be the universal relation on a set X with more than one element. Then R is s B
a) notreflexive b) notsymmcuié ¢) transitive d) none of the above
18. Let X={1,2,3,4}, Y={a, b,c,d} and f = {(1, a), (4, b), (2, ¢), (3, d), (2,d)}.Thenf is
a) anone-to-one function | .. b) anonto function
c) afunction which is not one-to-one d) not a function
19. Let R be the set of all rez;l numbers. Consider the following subsets of the plane RxR.
S={(x,y):y=x+1 and 0<x<2} and T={(x, y): x~yis an integer } . Then which of the
following is true?
a) Tisanequivalence relation but S is not an equivalence relation
b) Neither S nor T is an equivalence relation
c) Both S and T are equivalence relation L
d) Sisanequivalencerelation but T is not an equivalence relation
20. If n(ANB)=3 and n(AUB)=10,then n(P(AAB)) is
a) 28 b) 12 c) 128 d) 21
21. If n(P(A))=1024, n(AUB)=15 and n(P(B)) =32, then n(A B) is
a) 1 b) 0 03 d) 4
22. f n(A)=10 and n(ANB)=3 then n((ANBYNA) is . |
a) 5 b) 6 c) 7= d) 9
23. If P(A) denotes the power set of A, then n(P(P(P(¢)))) is |
a) 2 ' b) 3 c)6 d) 4
24. The domain of the function y = m 1s
2), (-0, 2] b) [3. ) ¢) (~2,21 U3, 0)  d) (~o, 1]
| Vo-x?
25. The largest possible domainof ¥ = 2 is
a) [-3,-1) b) (1, 3] ¢ [-3.-hUM3] d) [-2. -1
26. The solutionof 5x —1<24 and 5x +1>-24 is

a) (4.5) kindly sendsye@irkgy answer to ourcgmaikids, Padasalai.net@gn}qjg?%?
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The solution st ol the following inegualiny | | o x-3 8
D 0. 2] h) |2, @) ¢) (0, 2) d) (-=. 2) [ ]
wo . - (), then x belongs to
\ - o
a) (2, %) b) (2. =) c) (=, 2) d) (-2. =)
29 1t x+ 2] <9,thenx belongsto
a) (~w. ~7) b) [-11,7] ¢) (—e.-TU [1Lw) d) (~1L7)
0. The value of (08 5 512 s
a) 16 b) 18 c)9 dy 12
3.0 fog 0.25 = 4 then the value of x is
a) 0.5 b) 2.5 ¢) 15 d) 1.25
32. The value of fog, 11 (og,,13 fog,,15 fog,;27 (og,,811s
a) | b) 2 c) 3 d) 4
33. The number of real roots of (x+3)* + (x+5)' =16 is
a) 4 b) 2 c) 3 d) 0
14, Ifaand bare the roots of the equation x” — kx +16 = Oand satisfy a’ +b’ =32, then the value of k is
a) 10 b) -8 ¢c) -8 8 d) 6
35, If 3 1sthe logarithm of 343, then the base is
a) S b) 7 ¢) 6 d) 9
36. The numbers of solutionsof x’ + |x - 1| =11s
a) | b) 0 ¢) 2 d) 3
37. The value of (og,b (og,c (og a is
a) 2 b) 1 ¢) 3 d) 4
38. The value of {0gy27 - (0g,,9 is
| 2 3 7
a) — b = W 2 ¥
a) p ) 3 ¢) P d) F
39. The value of (0g,5 . (0g,527 is
I 3 2 4
a) 3 | b) 3 ) 3 d) 3
40. If (0g,324 = 4 then the value of ais
a) \E b) 3 <) }\/’5 d) \'a:
41

he value of fog, Qli 1S

a) -2 kindly senb)me&our key answer to ouy engail id - Padasalai.neg@gmgail.com
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42

44,

45.

46.

47.

48.

49.

50.

Given that x. y and b are real numbers x <y, b> 0, then

X,y

a) xb<yb b) xb>yb c) xb<yb d 5=b
If Lk = s + £ , then the value of A +B is

3+2x-x° 3-%x x+1

-1 -2 1 2

S _= i = d) —
a) b) 3 ¢) 5 ) 3
If e . + l hen the value of ki

(x+2) (x=1) x+2 x-l’t en the value of k is

a) 1 b) 2 c) 3 d) 4

MAT-1

The equation whose roots are numerically equal but opposite in sign to the roots of 3x2-5x-7=01is

a) 3x*-5x-7=0 b) 3x*+5x-7=0 ) 3Ix:-5x+7=0 d) 3x*+x-7=0

If aand b are the real roots of the equation x> —kx +c =0 then the distance between the points (a, 0)

and (b, 0) is

a) K2 -4c b) Jak? ¢ ¢) Vac—k? d) Vk-8c

If 8 and 2 are the roots of x” +ax +c =0 and 3, 3 are the roots of x” +dx + b = 0, then the roots of the

equation x* +ax +b =0 are
a) 1,2 b) 1.1 o O e d -1,2

Find a so that the sum of product of the roots of the equation 2x? + (a-3)x+3a—-5=0areequal is

a) 1 b) 2 ¢) 0 d) 4
If (og,2* =22 thenthe value of x is

a) 1 b) 4 ¢) 2 d) 3
The value of (~1000)7" is

a) 100 b) ) — d) 10

10
¥ % ¥k k

100

kindly send me your key answer to our email id - Padasalai.net@gmail.com
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MATHEMATICS
Time . 1.00 hr. _ ’ Marks . 50
Choose and write the correct answer: 50x1=50
tan140° —tan130°
1. I tan40° = A . then an = =
1+ tan140° tan130°
Jdd 142 ’ 1422 -
: d
a) " | b) Y c) " ) 2)
2. Which one of the following is not true?
1
a) sin8=—% "~ b) cosO=-1 ¢) tan6=25 d) secezz
3. cosl®+c082°+¢c0s3°+...+cos179° =
a) 0 b) 1 c) -1 d) 89
4. The maximum value of 4sin? x +3cos® X + Sin—~ + cos— i
a) 4+2 b) 3++2 c) 9 d) 4
5 L__ e
" cos80° sin80°
a) 2 - b) AL c) 2 d) 4
6. If cos28°+sin28°=K”, then cosl7° isequal to
K’ K’ K’ K’
— by ——é& +— d) ——&=
a) NG ) N <) NE) ) NE]
7. If f(8) =|5in0| + | cosO|, @ e R , then f(0) isinthe interval
a) [0, 2] b) [1, v2] ¢) [1.2] d) [0. 1]
8. cos20 cosz¢+sinz(8—¢)-sin2(6+¢) isequal to
a) sin2(0+9¢) b) cos2 (6+¢) c) sin2(0-9) ~d) cos2(0-¢)
9. A wheel is spinning at 2 radians / second. How many seconds will it take to make 10 complete rotations?
a) 10m seconds b) 20m seconds ¢) 5w seconds d) 157 seconds
( 3
10. Ll+cos§) (l+cos%] (HCOSESEJ (1+coszg£) =
] 1
a) < : l

8

_ b) = ¢c) dl 7
kindly send me2your key answer to our emgl id - Padasalai.net@ggm@il.com


t.me/PRITEDUCATIONS
https://whatsapp.com/channel/0029VaDuCPB0Qeae8MIiMv1k
https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/

SS PRITHVI, PRIT~-EDUCATION

www.Padasalai.Net www.Trb Tnpsc.com
) MAT-2
XI-OT | 2
1. If a<20< 11 then V’S: \/2_+§c;)s 40 equalsto
2
a) —2cos® b) —2sin0 c) 2cosb d) 2sin® L]
12. Let f, (x) = f: [sin* x +cos* x] where x e R and k 2 1. Then f,(x)—fs(x) =
1 1 1 L1 D
2 — - S d)
D 3 b 12 °) & , 3
13. If sina+cosa =b, then sin2a isequal to
a) b*-1ifb<y2 b) b2-1if b>+2 c) bi-1,if bx1 d) b2-1,if b>V2
eon .. A . B . C ben . .
14. Ina A ABC, if (i) sm—z— smism5>0 (ii) sin A sinB sinC > 0 then
a) Both (i) and (i1) are true b) Only (i) is true .
¢) Only (ii)is true . d) Neither (i) nor (ii) is true [:
15. If tanc and tanP are the roots of x* +ax+b=0 then M is equal to
sina sinf3
L. b 2 _§ g 2
2) a ) b ©) b ) a
16. The cospO+cosqf =0 andif p# q,thén 9 isequal to (nis any integer)
n(4n+1) n(2n+1) n(nxl) n(n+2)
ANl W | Sl 71 . 4 R
Y T ®) Tpiq 9 Tpiq ) “p+q L]
cos6X +6cos4x +15¢c0s2x +10 4B)
17 cos5x+5cos3x+10cosx 1Sed
a) cos2x b) cosx ¢) cos3x d) 2cosx D
18. Inatriangle ABC, sin’ A +sin® B +sin’ C = 2 then the triangle is
a) equilateral triangle b) isosceles triangle ¢) right triangle d) scalene triangle I:l
l.
19. The principal solution of sin® = 5 is
1 yid -
) | b) £ ¢) m d - []
1.
20. The principal solution of cos8 = 5 1S
n n 2 ki
A 3 L ©) 3 9 3 []

. If (A +B) = 45 thenthe value of (1+tan A) (1+tanB) is

a) 1 b) 3 c) 4 d) 2

[]

kindly send me your key answer to our email id - Padasalai.net@gmail.com
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Y The value of sin JARRER b ; .
1
a) | M A ¢) JJ dy | [_._
1. lThe valuc of sinll sind8? sin 547 18
‘ ' ) g
oYy —
a) L6 b) ] 3 4
9.
14 The principal value of cosec : (-~:~)i5
2 principa WE
T i n
a) T b) 3 C) 4 d) 3
. af -1y,
35, The principal value of tan :ﬁ 15
n
n n E d) o —
.n _x 0)
%) 6 b) 6 4 4
26. The number of sides of a polygon having 44 diagonals is
M
a) 4 b) 4! c) 11 d) 22
27. 143+547+.....+17 isequal to
a) 101 b) 81 ¢) 71 d) 61
28. 1f "C, : "C, =11:1 thenthe value of nis
a) 5 b) 6 c) 11 d)y 7
29. The number of rectangles that a chessboard has
a) 81 b) o c) 1296 d) 6561
30. If P, stands for ' P, then the sum of the series 1+P +2P,+ 3P, +...+nP, 1s
'd) Pml b) anl-l C) Pn7|+l d) “H“Ptn'l)
31. The number of 10 digit numbers that can be written by using the digits 2and 3 is
a) °c,+ °C, b) ¢ c) 2'°-2 d) 10!
2. 1f°Cy, "Cs. "Cyare in A.P the value of ncanbe
a) 14 b) 11 c)9 d) 5
33. (n—llCr + qn—l)(\”-His
a) ™IC by " 'C, ¢) "C d) °C,
34, ln3ﬁngers,thenumberofwaysfourringscanbewom'm.,............... ways.
a) 4% b) 3¢ c) 68 d) 64
35. The sum of the digits at the 10* place of all numbers termed with the help of 2,4, 5, 7 taken all at a ime is
a) 432 b) 108 c) 36 d) 18

www.Padasalai.Net

www.Trb Tnpsc.com

36. There are 10 points in a plane and 4 of them are collinear. The number of straight lines joining
any two points 1s
a) 45

. b) 4 c) 39 d) 38
kindly send me your key answer to our email id - Padasalai.net@gmail.com
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XI1-OT
7 1P = (_H (n-1) J (n+3)p then the value of n are
Al (nt -~

a) 7and 11 b) 6and 7 ¢) 2and 11 d) 2and 6
38. The productof r consecutive positive integers is divisible by

a) 1! b) (r-1)! c) (r+1)! d)
39, If -0 C, = 32“‘C4 then the value of ‘a’ is _

a) 2 b) 3 ¢) 4 d) 5
40. The number of 5 digits numbers all digits of which are odd is

25 .

a) 2° b) 5° c) §° d) 6% . 1

41. In aplane there are 10 points are there out of which 4 points are collinear, tpen the number of trla!ng es

a) 110 b c, ¢) 120 d) 116
2.

43.

44.

45.

6.
47.
48.

49.

50.

-a) 52C5 ‘ b) 48C5 C) 52C5 4 48C5 d) 52C5_ 48C5

formed is

The number of ways in which a host lady invite 8 people for a party of 8 out of 12 people of whom two
donot want to attend the party together is

a) 2x 'U'C.,+ 0c. b) “Cﬁ; o, ¢f 2¢, -8, d) 'oC, +2!

In an examination there are three multiple choice questions and each question has 5 choices. Number of
ways in which a student can fail to get all answer correct is

a) 125 b) 124 c) 64 d) 63
The number of five digit telephone numbers having atleast one of their digits repeated is
a) 90000 1 b) 100000 . ¢) 30240 . d) 69760

The number of ways of choosing 5 cards out of a deck of 52 cards which include at least one king is

The number of pafallélogrmns that can be formed from a set of four parallel line intersecting another set of
three parallel lines. )

2) 6 b) 9 ¢) 12 d) 18

Everybody in a room shakes hands with everybody else. The total number of shake hands is 66. The number
of persons in the room is

a) 11 b) 12 c) 10 d) 6

The number of ways in which the following prize be given to a class of 30 boys ﬁrst and second
in mathematics, first and second in physics, first in chemistry and first in english is

a) 30%x29? b) 30°x29° © - c) 307x29¢ d) 30x29°

If 10 lines are drawn in a plane such that no two of them are parallel and no three are cdncurrent
then the total number of points of intersection are

a) 45 b) 40 c) 10! d) Hlo
If°C,,_, = °C,,,, thenthe value of ris
a) 2 b) 4 c) 5 ' dy 3

kindly send me your key answerkokokiskenail id - Padasalai.net@gmail.com
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One Mark Test - 3
Standard XI
MATHEMATICS
Time : 1.00 hr. Marks : 50
Choose and write the correct answer: 50x1=50

10.

11.

(o8

I3

If a. 8, b areinA.P, a, 4, b arein GP,and if a, x, b are in H.Pthen x is

a) 2 b) 1 c) 4 d) 16
If ais a the arithmetic mean and g is the geometric mean of two numbers, then
a) a<g ' b) a>g c) a=g’ d) a>g

1 1

1
. The sequence B B2 Bradzr form an

a) AP b) GP ¢) HP | d) AGP
The valueof 2+4+6+...+2nis '
-1
2 D@D by D@+D 8 2n(nAY d) n(n+1)
2 2 2
. Thevalueof 5+10+15+......+5n is
) n(n-1) b) 3n(n+1) o Sn(n+1) d) n(n+1)
2 2 2 2
. The coefficient of x° in (2 +2x)' is
a) '°c, b) 2° & CC. 2. d) '°c,2"
. If"C,, > "C, forall possible r, then avalue of nis
a) 10 b) 21 c) 19 d) 20
. The HM of two positive numbers whose AM and Gm are 16, 8 respectively is
a) 10 b) 6 ' c) S d) 4
The value of the seri _+Z+1_3+§+ + i
. Thevalue of the series — + 2+ 16 T s is
a) 14 b) 7 c) 4 d) 6
The sum of an infinite G.Pis 18. Ifthe first term is 6, the common ratio is
1 2 1 3
a) 3 b 3 ) & d 7
The remainder when 38'° isdivided by 13 is
a) 12 ‘ b) 1 &) 1 d) s
_1_ _1_+l+_1_+. g |
24 8 16 ° .
a) 0 b) 1 C) o d) -1
The n™term of the sequence Ly i
‘ 1e sequenc 2 28 16 1S

~a) 2" - n-Kindly sendiye yoyrkey answer to ourcgn‘@irhig haapasalai.net@gm?mom
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14. The sum upto nterms of the seres \/5 + JQ 'y \/1—8+\/§_?:+,,,, is
D)
n(n+1) , c n(n+ d) 1
4 : b) 2n(n+1) ) 5
T f the series ] + ! +——~—l——+---- is .
15. The sum up to nterms ol the se \/I+\/3_ \/5+\/§ \/§+\/'7 f
| J2n +1 d V2n+1-1
a) \2n+l b) — ¢) V2n+1-1 ) 5
The valueof -+ L+~ +_..is
16. The value o it et
241 2 I - er+l
e’ +1 o (e+D)” (e-1) d)
? 2e % 2a ' °) 2e ‘ 2a
2 3
17. The value of l—l(g]+l EJ —l(g) S OO is
2\3) 3\3 4\3
5 3 5 5 5 2, [2)
N . - - — — __[0 —
a) fog[J b) zfog(J c) 3€og(3] d) 3083
18. If S, denotes the sum of n term of an A.P whose common difference is d, the value of S, — 25, + Sp-218
a) d b) 2d c) 4d d) d*
19. If (1+x2)* (1+%)" =2y +2,X +2,X” +.....t X" andif ag, a,, a, arein AP, thennis
a) 1 - b) 2 c) 3 ; d) 4
20. If"C, > "C, forlall values of 1, thena value of nis
a9 by g CC c) 17 d) 18
21. The coefficient of x%y'? in the expansion of (2x +3y)* is \
a) 0 - b) 283]2 c) 28 3]2+212 38 d) 20C8 283]2

22. The coefficient of x? in the expansion of (2x +3)’ is
a) 720 b) 1080 c) 810 d) 5

23. [fthe sumup to n - terms of the series /3 ++/75 +/243 +..... is 435+/3 then the value of n is

a) 15 b) 10 )5 d) 25
| N
24. The coefficient of x* in the expansion of (2X2 —;) is
a) -36 , b) 36 c) 30 | d) -30
1-2x . .
25, is approximately equal to
1+2x
a) 1-2x-x +2x + x*

D

2 b
kindly sent)JI rln %/ouri((ey answer to'%Lrla‘r?a"ﬂ id - Padasalai.rqe‘t@qnga‘iﬁcér%w
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26

28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

www.Padasalai.Net www.Trb Tnpsc.com

. MAT-3
Which of the following equation is the locus of (at?, 2at) ?

X Yy x2 yz ) ) > 2
3T Ty = — = = d =4
a) P B2 1 b) az+b2_1 c) X" +y =a"_ )y ax

The slope of the line which makes an angle 45° with the line 3x —y =5 are

1 1

The point on the line 2x -3y = 5 is equidistance from (1,2) and (3,4) is
a) (7,3) b) (4, 1) . ¢) (1,-1) d) (-2.3)

The equation of the line with slope 2.and the length of the perpendicular from the origin equal to /5 is
a) x-2y=+/5 b) 2x—y=+5

c) 2x+y=5 d) 2x-y-5=0

The intercepts of the perpendicular bisector of the line segment joining (1, 2) and (3, 4) with
coordinate axes are

a) 5,-5 b) 5.5 - c) 5,3 d) 5,-4

Equation of the straight line that forms an isosceles triangle with the coordinate axes in the
I - quadrant with perimeter 4 +2./2 is

a) x+y+2=0 b) x+y-2=0 c) x+y—\/5:0 d) x+y+\/5=0
2 B8

If the point (8, — 5) 1iesomhelocusof’]‘—6—§—5=k,menmevalueofkis

a) 0 b) 1 c) 2 d) 3

Which of the following point lie on the locus of 3x? +3y? —8x—-12y+17=07?

a) (01 0) b) (_23 3) C) (l, 2) d) (Oa—l)

Straight line joining the points (2, 3) and (-1, 4) passes through the point (a, B) is

a) a+2B=7 b) 3a+pB=9 c) a+3p=11 d) 3a+B=11I

The equation of the locus of the point whose distance from y-axis is half the distance from origin is
a) x>+3y’=0 b) x2-3y*=0

c) 3x2+y*=0 d) 3x?-y2=0

A line perpendicular to the line 5x —y =0 forms a triangle with the coordinate axes. If the area of the
triangle is 5 square units then its equation is

a) x+5yi5\/§:0 b) x—SyiSﬁ:o €) S5x+y+5J2 =0 d) Sx—y+5¢2 =0

If the equation of the base opposite to the vertex (2, 3) of an equilateral triangle is x + y = 2 , then the
length of asideis

a) \E b) 6 ) J6 d) 32

Find the slope of the straight line passing through the points (5, 7) and (7, 5).
a) 1 b) -1 c) 0

d) -2

kindly send me your key answer to our email id - Padasalai.net@gmail.com
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39, The length of the perpendicular from the origin to the live 3x =4y =11s
1 2 3 I
a) 5 b) 5 c) % d) ‘25

40.

41.

43.

44.

45.

46.

47.

48.

49.

50.

. -,
Ihe length of perpendicular from the origin to the line = =~ = lis

3 4
¥ 5 12 3
The image of the point (=2, 3) intheline y =X is
a) (-3.-2) b) (3,-2) c) (-2,3) d) (-2.-3)
. If one ofthe lines given by 6x? — xy +4cy’ = 0is 3x + 4y =0,thencequalsto
a) -3 b) -1 c)3 d) 1
If the line represented by the equation 6x2 + 41xy — 7y> = 0 make an angles o and 3 with x-axis, then
tanatanf =
- N -7 N
a) 3 ) 5 ) —¢ ) & .
If the two straight lines x +(2k —7)y +3 = 0 and 3kx + 9y — 5 = 0 are perpendicular then the value of kis
1 4 -3
a) k=3 b) k=3 c) k=3 d) k=3

—

The area of the triangle formed by the lines x> - 4y? =0 and x =a is

V3

v, 2
2 — 8 —a“
a) 2a b) 1P c) 5 d) NE
If avertex of a square is at the origin and its one side lies along the line 4x + 3y — 20 = 0 then the area of the
square is p

2
a

a) 20sq.units b) 16 sq.units ¢) 25 sq.units d) 4 sq.units

The y - intercept of the straight line passing through (1, 3) and perpendicularto 2x -3y +1=0is
3 9 2 2

8 3 ®) 3 © 3 93

2cos0+3sinb

0 is acute angle between the lines x? — xy —6y? = 0, then 4508+ 50058 1S
-1 5 1
a) 1 b) ry c) ry d) 5
The line (p+2q) x+(p-'3q)y = p—q for different values of p and q passes through the point

305 2 2 303 2 3
? (5’ 5) b) (3’ 5) © (3’ 5] 9 (E' EJ

The coordinates of the four vertices of a quadrilateral are (-2, 4), (-1, 2), (1, 2) and (2, 4) taken inorder.

The equation of the line passing through the vertex (-1, 2) and dividing the quadrilateral in the equal areas
s

a) x+1=0 b) x+y=1I ¢) X+y+3=0

kindly send me your key answe*r' PE)%u*r*émail id - Padasalai.net@gmail.com
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14,

16.

18.

20,

B (AN 2 | 2 | IS o ArIX S

o
. If the square of ‘the matrix L, _J Ist

lisfving the cquatior WA 9l wherel is 3% 3 identity matrx,
atsiving " e

y
o . b |

then the vrdered pair (i, b) is equal o
20 ¢) (2.1 4 2.-n [ ]

X, Y .
. I 1‘ N 1 > v v Q P -
If b <. ‘;”h?f_(). then the arca of the triangle whosu vertices arc
b L ya|= 5
(= N3 y l
[ Xy \| \‘ }33 \ [\1 Y,
a " i .|
\d d J L b b / C C

a)
he unit matrix of order 2. then a. B and y should

satisfy the relation. .
a) l+a’+py=0 b) 1-a?-Py=0 c) 1-a?+By=0 d)1+a3—By=OL—__’

a 2b 2c
If a=b, b.csatisfy[3 b c|=0, thenabe
4 a b
a) at+b+c b) 0 c) b’ d) ab+bc [I
=1 24 ~2 2|
JIfFA=[310 and B=|6 2 0], thenB isgivenby
=242 —2 48
a) B=4A . b) B=—4A ¢) B=-A : d) B=6A []

Let Aand B be two symmetric matrices of same order. Then which one of the following statement is
not true?

a) A + B is a symmetric matrix b) AB isasymmetric matrix

¢) AB=(BA) : d) ATB=AB' : []
a b ¢ ka kb ke

If A=|x Y z| , then |kx ky kzl is
p qr kp kq kr

a) A b) kA ¢) 3kA d) k’A ]

N
The value of AB +BC+DA + CDis
— = - —
a) AD b) CA - c) 0 d) —AD
' - 5 >

L]

_—)
_If ABCD is a parallelogram, then AB + AD+CB + CD iscqualto

- = - ‘ —> —
a) 2(AB +AD) b) 4AC c) 4BD d) 0

L]

If _{k+-2b) and 3;+ mg are parallel, then the value of mis
indly send me your key answer to our email id - Padasalai.ngt@gmail.com

a) 3 b 3 c) 6 | d ¢
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51 Theunitvector parallelto the resultantof the veetors io}—rﬁ and i ‘Zﬁw—R is
i—j+k *’“] 4%, % k ﬁ:l_".
a) - b) = by ! {L, d)“,J
N3 NG ©) 7 NG D
2. I BA =31+ 2]+ k and the position vector of Bis i +-3j—k . then the position vector of A is
a) Hi-2j+k © b) 4i+5] ' ¢) 4i d) —4i [:I
, > X 1 .
13, It a and b having same magnitude and angle between themis 60° and theirscalarproductis = then | a | is
2) 2 b) 3 ¢) 7 R []
24 1f]a|=13.16/=5and a - b=60°then |a x b]is
a) 15 b) 35 ¢) 45 ‘ dy 25 []
75. If the points whose position vectors 10i + 3] 12+ 5] and ai +11} arc collinear then a is equal to
a) 6 " b)3 )5 d) 8
—> : -
26. Avector OP makes 60° and 45° with the positive direetion of the x and y axes respectively. Then the
__)
angle between OP and z-axis is
a) 45° b) 60° -~ ¢) 90° d) 300 - E]
27. A vector makes equal angle with the positive direction of the coordinate axes. Then each angle is equal to
(1 af2 : .1(1} .1(2]
1 !
a) cos | — b) cos | = ¢) cos | —= d) cos | = _
) wel) el 30
28. If a+ ZE) and 4a+mb are parallel then the value of mis '
1 : 1
a4 b) o8 d ]
29, If |2+ B = 60, | a—b | =40 and | b | = 46 then [ a [is
. J— b) 12 ¢) 22 d) 32 ]
30. The valueof 0 LG. %) for which the vectors @ = (sin0) §+(cos ())} and b = {—\/3:1+ 2k are
perpendicular, is equal to
T . i I ™ .
2 3 b) 3 o, »d) = ]
31. If ? be the position vector of any point and let o Band v be the direction angles of T . Then
sin® 0. +sin” B+sin2 Y= - ‘
a) 1 b0 c) 2 d) o ]
32. One of the diagonals of a parallelogram ABCD with a and b are adjacent sides is a + b . The other
- —>
diagonal BD is
- 2 2 . o g+g
a) a-b b) b-a ¢) a+b d 277
- > o o . . . . 2 D
33. If a. b, ¢ arcthe position vectors of three collincar points, then which of the following is truc?
a) a=b+C b) 2a=b+¢ ¢) b=c+a d) 4a+b+c=0
it S8
0 Jsin0 , ‘
a) 1 S b) - ¢) 0 dy 2 []
35 lim sinx _ .
a) 1N b) 0 c) | d) —o []

36

2z a
X" +IX+)

o (L2
kindly senehme y) urskey answer to our email id - Padasalai.net@gmail.com
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[]

_A .f‘;

b= | AL , d) o B
01 fuhcthnon g, S1AITY takes only rational values forall x and f(3) =12 then

g 1<L

N - (45)-£0G) —
b1 e ¢) 17.5 ‘ d) 0 D 4

¢) differentiable d) non-zero | l:l

T . S8 T R

d) limitdoes notexist[ |
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i One Mark Test - 5
Standard X

MATHEMATICS
Time : 1.00 hr. o Marks : 50

Choose and write the correct answer: ~ 50x1=50

I. If y=mx+c and {(0)=1'(0)=1,then (2) is

@3+ [

Q) | b2 ¢) 3
51 | dz
V= - - -
2. Ify=— ‘.lhm dy 1S
a) (a-s) b) —(x—a)z ¢) (z-i—u)z d) —(7,+a)2 l___—]
Lo I . - dy .
3.0y =10(x"+2)and {'(3) = 5. then LA x=11s
ax N
S b 25 ¢) 15 d)10 []
i d /2 ..,
: | sinX" |
Todx I\rf s
a) " cosx" b) : cosx" ¢) T cosx" d) i cosx" D
180 90 90 L
,'xﬂ-i. —-l<x<3
5. M f(x)={ 5. x=3 _.thenat x =3. {'(x).is

8—x. X>3

a) 1 b) -1 ¢) 0 d) does not exist |:|
|-t 2t dv |
6. X= oV = s then ™ 1s
I+t S dx
\ v N X
. - - ' - . {
Q) b) . ¢) . d) . [:]
. dv )
7. 1f x=asin0 and y =bcosO.then = 7 is
X
a 2 b , b 3 b .
- see” 0 by ——scc” 0 Wo— L see’ 0 . — " sect 0
3) b- ) a & a- d) a- e [:l

8. Thederivativeof f(x)=x|x|at x=-3 is

a) 6 b) -6 ¢) docs not exist d) 0 D

. dp .
9. If pv=S8l.then /- atv=9is
dv

a) | b) -1 c) 2 dy -2 | I:]

‘{ux2 ~-b, —l<x<«l

10, IF fix)=9 isdifferentiablcat x = I . then
| ‘ clsewhere
X 4
\ I h 3 — ¥l l = } I ‘: ‘ 1 3
: 7 h) 1 - 2. ) 2 C) Hi —".,h— ’4\ d} ;l':,” D - ”D

i1 Thedifferential coefficient of fog,x withrespeetto fog 10 is

kindly send me your key answer to our email id - Padasalai.net@gmail.com
3 X

1) © b))~ (fog,,x) ¢) (lop 10y ,
81 2 10) d) 100
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If f(x)=x+2.then {'(H(x)) at x==1 d) 3 1
) 8 b) 1 Sd ) -
) f(N)=2 _ 4. then '(0) 18
f ()= (x" +2x+1) fix) and 1(0)=> ard =, " R ™
’ ’ i d) 12 i
14 ¢) I8
0 ) 1
xf(a)—aftx)
, , o hen 1M I~
Itis given that 1'(a) exists.then 7 A
o X , d) f(a)+at (a) 1
) ta)y—at’(a) by '(a) ¢) L)
X+ when <2 I .
If () . then 17(2) 18
) . > .
x-1. whenx 22 ) 4y does not exist D
a) 0 b) 1 ¢) . :
(1 dy .
If ) . then 15
i \ d\ -
-~ ) - S ) n - -
2 2 5 2 - = i P
a) b st <) v d XX
S . s isnot differentiable s
e . St - ! 3 ] is not differentiabic s
I'he number of points in R in which the function £(x) 0N I+ 1Ix— 34 +SIDN
2) 3 b 2 ¢ 1 U L]
et (e x) )
‘ 5 . dx 18
TCosTINe )
al cotgne’ ) =¢ b) secinet) e ¢) tnixe)4c d) cosexeryre [:j
van
“ dx s
< sin 2N '
. 1 Jtan x [y Junx+c |
— o . < A +C
a) Junx-+c b) 2Vianx +¢ 5 ) ( .
1i f dx =k 3 +c.thenthevalucal Kiy
L I . !
ay log 3 b) —log 3 ¢) 00l d) 03 | I
J‘C = dx 1s
L " « LY
¢ - ¢ .\'j ) : i
. PR b i ¢ ¢) i< d) L ¢ D
a) X4C ) 3 < %
SCC X :
j y - dx 18
Jeos 2x
. . i
a) tan '(sinx)sc o b) 2sin fganx)ic €t 'eosx)te  d) sin '(anx)+c D
seC XN %
Jlan” =l
| —tanx . I+ tanx
) 2log +¢ by fog b
I+ tanx I tanx
1 tan x + 1| ! tanx -1 —
¢c) _log s d)y _fogl s T
B tan x -] 2 tanx + | -
'~ MmN dx 1S
) 2(—VNCOsVX +sIinVX)+e b) 2(-Jxcosvx ~sin \”i)‘c
‘ VXSINVN —cosVx) Fe d) 2(-JxsinVx +cosx) +¢ D

kindly éehd me yéur key answer to our email id - P4dasalai.net@gmail.com
( o1y L'

tan X +¢
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AN

Vi t 5l C
<) O R | \‘ \'/I NG
|’l | l COS \ I
dan UN
N lV||gn\ N | 15
DX O b) 2x°+c¢
- | .
28. _[ ——= dx is

x\/f( fogx)” =5

. 2 I~
A fog [x+VUXT=5|+c¢

¢) (ogllog x+\'/(/‘0gx)2 =5|+c¢

29. - dxis

-8 8

sin” X —cos’ X
.[‘ Y aipl 2
I-2sin” xcos™ X

2) sin2x +c¢ b)

N —

L T ks

10 _[ (\ tan "X +tan x+l)
' x* +1

a) c“tan'(x+1)+¢c b) tan" (cH)+c

v

|8 ]

w | 2

b)

U||-—‘

a)

32. Itisgiventhat thccvents A and B arc such that P(A)

=]

I .
——sin2x+¢
9]

X 1 Y |
1. If X and Y be two cvents such that P [\?) . 1’[ % ] =7 and P(XNY)=

MAT-5

www.Trb Tnpsc.com

.\illi\'\/l XT+¢
\/l .\"wf'ug}xi\/l'-\':ﬂ' l:]

[

2 "
x Vs
c Sy ]
b d) 5

(og | logx+4/log x=5]+¢
fog | log x—,/((ogx)3—5i+c D

d)- -}) cos2x+c I:]

|
- COS2X +¢
o]

Lo 2
fan” X o
¢) ¢ ((-~;)WL+C d) ¢¥tan 'x+¢ D

| .then P(XUY)1s
6

P

1 2
7 a3 ]

= ] 5 2 ﬁ-):]— and P(BJ
4 Bl 2 A
z
3

.Then P(B) is

b.)|l\)

7 7
16 9 128 : D

34. Iftwo events A and B are independent such that P(A) =0.35 and P(A UB)=0.6.then P(B) is

| !
a) 6 b) 3
33. ‘Ten coins arc tossed. The probability of getting at lcast 8 heads is
7 7
Y6 FAT
a) 1—5,, b) =

4 7
13 d 3 L]

35. Abag contains 6 green, 2 WhllC and 7 black balls. I two balls are drawn simultaneously. then the

probabi lity that both arc different colour is

68 71
D105 b 105

04 73

105 9 105 D

36. If Aand B are two events such that A = B and P(B)# 0, lhcn which of the following is correct?

B)” P(B)

A
b) P|— |<P(A ) p >
) (B]<( ) : (BJN(A)

d) P(‘;) >P(B) D

37. Abag contains 5 white and 3 black balls. I'ive balls arc drawn successively without replacement. The
prabability that they are alternately of different colour is :

-
=)

14

a) _ b) ]~4

1 9 :
14 d 1y |—_—l

38. If misanumbersuchthat m <5, then the pr ohdhlhl) that quadratic cquation 2x” +2mx +m+1=0

has real roots is

k{mdl_y send me your hg@yzanswer to our emaiil id - Padasalai.nea@émail.com [:]
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+41.

44.

46.

47,

48.

49.

9]

VO, 1 two events A and B are such that P(A)

- Inacertain college 4% of the boys and 1

AT-5
www.Padasalai.Net ; www.Trb TnpgclcomM
probability that bothAand B

' \ wpectively. The
he probability of two events Aand Bae 0 yand 0.0 respectivel)
I N Yo

‘ ither - Curs s
Cmultancously is O 18, The probability that neither Anor B oce
& | 0y 028 ]

(RN

Q) 01 by 0.72 ¢) 042

3 and P(ANB) = L.lhcn PAI3) 18
0

1
| | ] d)y .
d) 5 h) 3 ] 4 -5 D
. o that the selecte oris divisible
A number is selected from the set 1. 2. 3.....20} . The probability that the sclected number is divisible
by 3ordis 1 . 8
2 1 | -
a) < b) 8 ¢) 9, a) 3 l:l:]
2. Two items are chosen from a lot containing twelve items of which four arc defective. then the probabulity
that at Icast onc of the item is defective
19 17 23 13 ]
a T . - > d) ~
9 &3 ® 33 °) 33 33 o
. Four persons are sclected at random from a group of 3 men. 2 women and 4 children. The probability
that exactly two of them arc children is 0
3 10 ' 1 N
A.Band C try to hitatarget si15ﬁllancousl_v but independently. Their respective probabilities of hitting
315 _ ..
the target are i 3 g The probability that the target hit by A or B but not by C 1s
2] 7 9 ' il
- e d
D64 b) 33 . ©) 64 s ]
. If Aand B arc any two events, then the probability that exactly onc of them occur is
a) P(AUB)+PAUB) b)) PANB)+P(ANB)
) P(A)+P(B)=PANB) ' d) PA)+ P(B)+ 2P(ANB) []
I aand b arc chosenrandomly from the set (1. 2. 3, 4} with replacement. then the probability of the
real roots of the equation x> 4 ax +b = 0 is
2 b) > ) . d H
) 16 16 “ 16 ) 16 [ ]
! ‘ 3 —
If Aand B are two events such that P(A)=0.4., P(B) = 0.8 and l’[ "l ) =0.6,then P(ANB) is
a) 0.96 b) 0.24 ¢) 0.56 d) 0.66 : D
Anumberx is choscn at random from the first 100 natural numbers. [.et A be the event of numbers

(x~10) (x - 50)

which satisfics - 2 0, then l’i/\) is

x=30
a) ,0.20 b) 0.51 : ¢) 0.71 - d) 0.70

A matrix is chosen at random from a set of all matrices o Forder 2. with clements 0 or 1 only. The
probability that the determinant of the matrix chosen 1snon zero will be )

3 ~
) 5 ] i

g o oy O

Zool'the girls are taller than the 1.8 meter. lurther 60% of the

students are girls. If a student at random and is taller then 1.8 meters. then the probability that the

studentisagirl is
)

2 3 5
¥ KT ©)

a)
d) — )
kindly send me your key ansyer to gulrlemail id - Padasalai.nb’t@gmall.cog
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XI-OT MAT-6
‘Name: Section: Reg. No. ﬁ
One Mark Test - 6
Standard XI
MATHEMATICS
Time : 1.00 hr. Marks : 50

50x1=50

Choose and write the correct answer:
I. LetAand B be subsets of the universal set N, the set of natural numbers. Then A’U[(ANB)UB'] is

a) A b) A’ ¢c) B d) N
2. IfA={(x,y):y=e",xeR} and B={(x.y):y=e"", xeR},then n(A(B) is
a) Infinity b) 0 c) 1 d) 2
3. If n((AxB)N(AxC))=8 and n(BNC) =2, then n(A) is
a) 6 b) 4 c) 8 d) 16
4. The range of the function f(x) =|| x |-x|, xe R is
a) [0, 1] b) [0, «) c) [0, 1) d) (0, 1)
5. If | x+2| <9, then x belongs to
a) (—o,-7) b) [-11,7] ¢) (-, =7NU[1l,0) d) (-11,7)
6. The valueof fog,b (log, c (og_.a is
a) 2 b) 1 c) 3 d) 4
7. The value of fog;11. (og,;13. (og,;15. fog,s27 . (og,,81 is
a) 1 b) 2 c) 3 d) 4
8. If aand b are the real roots of the equation x> —kx + ¢ = 0, then the distance between the points (a, 0)
and (b. 0) is
RN rerrl SO rrae SN s O Rw
9. : - \/5 =
cos80° sin80°
a) 2 b) 3 c) 2 d) 4
10. cosl®+cos2°+cos3°+...+cos179° =
a) 0 b) 1 c) -1 d) 89
11. Which of the following is not true?
a) sin()z—% b) cosO=-1 ¢) tan0=25 d) sec8=%
R sin(a +3)
12. If tan« and tan 3 are theroots of x +ax +b =0, then ;n_(:l;ﬁ isequal to
T 0 e

kindly send me your key answer to our email id - Padasalai.net@gmail.com


https://whatsapp.com/channel/0029VaDuCPB0Qeae8MIiMv1k
t.me/PRITEDUCATIONS
https://whatsapp.com/channel/0029VaDuCPB0Qeae8MIiMv1k
https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/

SS PRITHVI
PRIT-EDUCATION

CLICK FOR MORE .
XI-OT www.Padasalai.Net - www. Trb Tnpsc.com MAT-6

-1).
13. The principal value of tan '[ JiJ is

4 ﬁT[ —Tr n
a) :_:* b) & c) T . d) g
14. cos35°+cos85°+cos155° =
1 . |
—_— —_— (=]
a) 0 b A 9 d) cos275°-
15. The number of 5 digit numbers all digits of which are odd is
a) 93 b) 45 ¢) 5% ' d) 2%
16. Number of sides of a polygon having 44 diagonals is | ‘
a) 4 . b)) g4 c) 11 d) 22
17. If *"C, : "C, =111 then the value of nis
a) S b6 c) 11 d) 7
18. 1+3+5 -7+.....+17 isequal to )
a) .101 - | b) 81 c) 71 d) 61
19. Ifais the arithmetic mean and g is the geometric mean of two numbers, then
a) a<g b) a>g c) a=g d) a>g
20. The remainder when 38" is divided by 13is
. a) 12 b) 1 el d) 5
21. The coefficient of x* in the series e is .
2 ' 3 —4 4
a) T b) = -, —
3 ) 2 ) e A I 15
22. The co-efficient of x™'7 in the expansion of (X4 ——13—] is
” ‘
a) 1365 b) —1365 c) 3003 d) —3003 |
23. Th f the seri l + 1 + 1 oot 1
: € sum of the series log,4 (og,4 loggd uCog? 1S
. n(n+l) b n(n+1)(2n+1) n(n+1) :
7 ) 2 ¢ 2 d) none of these
24. Distance between the lines 5x +3y —7 = 0 and I5x+9y+14=01is
35 | 35 '
a) = b —— _is,_
34 ) 354 ) 3 D 2
25. Which of the following equation i the locus of (at?, 2at)
x2 y? X}y
a —,)——-—zl —_— = '
) a’ b’ b) a’ ¥ b? . ©) x*+y’ =a’ d) y?=4ax
26. The coefficientof x° in (2 +2x)' is
10 : ! ' '
a) C6 b) 26 C) IOC(, 26 d) |0C6 2[0

27. A line perpendicular to the line §x — y =0 forms a trian,

. . gle with the coordinate axe
triangle is 5 sq.units, then its equation is s. If the area of the

a) x+Sy+ = _ _ ) |
y+5J2=0 ) x-5y£5/2=0  ©) Sx4y+5¢2=0 d) sx—y155
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a) (-3,-2) b) (-3.2) c) (-2,-3) d) G.2)
ki ‘ ) 9
29. If A= Y _then for what value of 1, A“ =0
a) 0 b) 1 c) -1 d) 1
30. If A ={a x] and if xy =1,then det (AAT) isequal to |
- | 2 \2
a) (a-1)’ " b) (a’+1)? c) a’-1 d) (a*-1
0. a -b
31. The value of the determinantof A={-a 0 ‘¢ |is
b —-¢ 0
2, 1202
a) —2abc b) abc c) 0 d) a“+b"+c
32. If 3+ 2b and 33+ mb are parallel, then the value of m is 1
. ; 1
a) 3 b) % c) 6 d) 6
“ : i le is equal to
33. A vector makes equal angle with the positive direction of the coordinate axes. Then eachangleis eq‘
2
a1 (2 af 1 d COS_,(_)
a) cos '(5) b) cos [5) ¢) cos (\/.3_) ) \/5
34. If a, _l;, 2 are the position vectors of three collinear points, then which of the following is true?
1 > .
35. If a and B’ having samemagrﬂtude and angle between them is 6(° and their scalar product s 5 then | a |is
a) 2 b) 3 c) 7 d) 1
: — d \ s >,
16. 12| =13, |B| =5 and a-b =60° then |axb]| is
a) 15 b) 35 c) 45 d) 25
37. lim il
x—0 e :
a) 1 b) 0 c) —] d) oo
. esinx 1
3. lim =
x—0 CX
1
a) 1 b) e c) A d) 0
i +...t n]
3 —_—t—+—F*.... —y =
W0l [n +n n’ n’
a) % b) 0 c) 1 d) o

kindly send me your key answer to our email id - Padasalai.net@gmail.com



https://whatsapp.com/channel/0029VaDuCPB0Qeae8MIiMv1k
t.me/PRITEDUCATIONS
https://whatsapp.com/channel/0029VaDuCPB0Qeae8MIiMv1k
https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/

SS PRITHVI
PRIT-EDUCATION
CLICK FOR MORE

www.Padasalai.Net www.Trb Tnpsc.com
XI-OT 4 MAT-6
. sinX
40. The value of IIm —7= js
x—U fo~
a) 1 b) -] ¢) 0 d) limit does not exist

. dy
41. If y=f(x"+2)and f'(3)=35.then —— at x =1 is

dx
a) S b) 25 c) 15 d) 10
| dz
42, It y=——,then [ is
a-z dy
a) (a-z)’ b) —(z-a)’ ¢) (z+a) d) —(z+a)?
43, If f(x)=xtan ' x.then £'(1) is
T 1 =n Il =
» 1+ 33 574 s
. d’y
44. If x=asin® and y = bcos0. then y 5 is
K
a) a, sec’ b) —Esecze c) ——stec36 d) - fscc’B D
b~ a a” a“ :
45. Thederivativeof f(x)=x|x|at x=-31s
a) 6 b) —¢ ¢) does not exist d) 0 D
46, [——==dx is
Vcos2x
a) tan '(sinx)+c  b) 2sin"'(tanx)+c ¢) tan '(cosx)+c d) sin '(tanx) + ¢
47. szcosx dx is
a) x’sinx+2xcosx—2sinx+c b) x’sinx—-2xcosx-2sinx+c¢
c) -x’sinx+2xcosx+2sinx+c d) —x?sinx-2xcosx+2sinx+c¢

48. J'eﬂ dx 1s

5 2% d—e®yse by Wx @ -Dre o 22N(1-VH)+e  d) 27 (Wx-D+c
49, IfAand B are two events such that A — B and P(B) # 0, the which of the following is correct?

2) pm,n,:%’,_(:g_) b) P(A/B)<P(A) ¢) P(A/B)2P(A) d) P(A/B)>P(B)
(B) |

50. Ten coins are tossed. The probability of getting at least 8 heads is
7 7 7 7
64 T “ 16 D5
1.8 . 8.8 .8
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’Name Section: Reg. No.
One Mark Test - 7
Standard XI
MATHEMATICS '
Time : 1.00 hr Marks : 50
50x1=50

Choose and write the correct answer:

1.

]

10.

11. Which of the following is not true?

If A=!(x,y):y=sinx,xeR}and B={(x,y):y=cosx, XxeR} then A(B contgins

a) noelement b) infinitely many elements
c) only one element d) cannot be determined
If the function f: [=3, 3] = S defined by f(x) = x? isonto, then S is
a) [-9,9] b) R ' c) [-3,3] d) [0, 9]
The function f: R — R isdefined by f(x) =sinx +cosx is
a) an odd function b) neither an odd function nor an even function
c) aneven function d) both odd function and even function
Find the range of the f'uncnon is
2cosx—1
-1 -1 -1
a) (—00. “j—]U [1,0) b) (—o0, ®) c) (T, l) d) (—ao, —?)—)U (1, o0)
. Find the range of f(x)=x? is
a) (—oo, ®) b) [0, x) c) (0, ) d) [0, =]
Given that x, yand b are real numbers x <y, b >0 then
Xy
a) xb<yb b) xb>yb c) xb<yb d) EZE
Find the value of /og ;512 is
a) 16 b) 18 c)9 d) 12
1 -2x A
If 7= + .thenthe valueof A +B is
342x-x" 3-x x+l
-1 ~2° 1 2
iy b) 3 ¢ 3 d) 3
[t 3 isthe logarithm of 343, then the base is
a) 5 b) 7 c) 6 d) 9
I'he maximum value of 4sin’ x + 3cos? x +sin —:; +cos is
, 2 2
1) 4+ \S b) 3+\/5 ¢) 9 d) 2

~
3

a) sin0 = - b) cos0 =-1
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d) 625

be formed ﬁ'om aset of four paxallel lines intersecting another

: o) 12 d) 18 f
0 points are there out of which 4 points are collinear, then the number of trian u I

), : A8y 120 d) 116

0 dlagonals. Fmd the number of its sides are _
e ¢) 20 d) 25

+(u-oq.+2n ls

E

E

&,) n(n+1) & _Zi(zTﬂj'ﬂ & h&d) m
‘

l

for all ppssxble r, thenavalue of nis

U
; r {- b) 21° e)l 181 | . d) 20
3.7 15

sequence -« g ¢

RN ¢) 27" +n-I d) 2
& et
kliegpn.thelocus — —~<— =k, then the value of kis

16 25 . : »
C) 2 d) 3 : E

equauon 6x> +4lxy 7y* =0 make angles o and B with x-axis, th

7
g 5 d) el
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27. Ifthere are ninterchanges of rows (columns) of'a matrix A then the determinant of the resulting matrix is
KA RGN &) (D" 1A O ortar [
28. Find the area of the triangle whose vertices are (-2, =3). (3. 2) and (-1, -8).

31

(S}
o

35.

37.

38.

. If the points (x, - 2), (5, 2, (8, 8) are collinear, then x is equal to

a) 25 square units

b) 15 square units ¢) 10 square units d) 30 square units []

WhatmustbethematrixX,if2}(4—[1 2:\:{3- 8}?
7 2

3 4

) «

S i =

13 1‘-—3
a) 2 -1 b) 2 _1:l

B -3 b 91 a3 ]

Let T = Xi+ yj +zk be the position vector of any pointand let o, {3, y be the direction anglesof r Then

the sum of the squares of the direction cosines of is

a) 0 b) 1 c) 2 d) 3
. One of the diagonals of parallelogram ABCD with a and b asadjacent sidesis a+ b . The other diagonal
_} .
BD 1s
2 2B b) §-3 0) a+b g 2+>

- ' " . u -
. Let T be the position vector of any point and let o, B,y be the direction angles of r . Then

. : . 2
sm2a+sm2[3+sm Y =

a) 2 b) 1 c) 0 d) 3
-5 o> 5 o
The value of AB + BC + DA + CD 1s

—> — = N
a) AD b) CA c) 0 d) —AD
Jim x? sin(lJ -
-0 X .
a) 1 b) 2 c) 0 d) 3
Iim _ b ik = -
Thevalueof ~ = X | x |. where kisan integeris
. ino —coso .
The value of (}_}“24 ilﬂ——f-r-—— is
“"3
|
a) 2 b 72 c) 1 d) 4
li_lg LXJ -
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: dp :
39. If pv=8l,then ——at y=918
~dv
a) | b) -1 ©)2 d) -2
40. Thederivativeof f(x)=x|x|atx=-3is
a) 6 b) -6 ¢) does not exist d) 0
g(x) = (x* f alim £9=5 _ 4 then g0y is
41, If g(x) =(x"+2x +1) f(x) and f(0)=5 and ") 4 en g'(0)
a) 20 b) 14 c) 18 d) 12
42, If [F(x)dx =g(x)+c, then Jf(x) g'(x)dx
. ' ]
2) [(f(x)*dx b) [f(x)e(x)dx ¢ [f'(x)g(x)dx d) [(e(x))dx
sec X
3 dx =
49 j-\104052)(
a) tan”'(sinx)+c b) 2sin”'(tanx)+c ¢) tan~'(cosx)+c d) sin”'(tanx)+c
44, J-\/.tanx dx is
sin 2x
1 1
a) Jtanx +c b) 2tanx +c c) Evtanx+c d) thanx+c
45. A numberis selected fromtheset {1, 2, 3, ....... 20}. The probability that the selected number is divisible by
Jor4dis
2 1 ! e
a) 3 ~ b) 3 c) 7 ) 3
46. If A isthe complementary event of A, then P(A) 1s
a) P(A) b) 1+P(A) S ¢) P(A)-1I d) 1-P(A)
47. If two events A and B are indpendent such that P(A) = O 35 and P(AUB)=0.6,then P(B) is
7
5 1
— v d
D13 ® 13 ' 15 '3
1 A) 1 B 2 :
48. Itis giventha;meeventsAandBa_resuchthat P(A)=Z, P 3173 and P R =§.Then P(B) is |
| ! 2 N
49. If P(S) = |, then the probability of the impossible event is
a) 0 ' b) 1 c) 2 d) none of these

Two items are chosen from a lot containing twelve items of whmh four are defective, then the probability that

at least one of the item is defective
19 17

a) :T; b) — | c)

2

-
J

d) o
33 ‘
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Name: Section: Keg. Nof | [ [ ] |
‘ One Mark Test - 8
Standard XI
MATHEMATICS .
. . Marks : 50
e 50x1=50

Choose and write the correct answer:
I Fornon-cmpty sets Aand B, if A < B then (Ax BYN(Bx A) isequal to

2) ANB - b) AxA ¢) BxB d) none of these D
9. The relation R defined onaset A =10, =1, 1. 2} by x Ry if| x?+y?|<2.then which one of the

following is truc?
a) R =1(0.0). (0. =1). (0. 1), (=1, 0). (=1. 1. (1. 2). (1. 0)}

b) R™'=1(0.0). (0. =1). (0, D, (=1. 0). (1. 0)}

¢) Domainof Ris {0, 1. 1. 2} | d) Rangeof Ris {0, 1.1} []
3. The function f : [0, 21t] = [=1. 1] defined by [(x) =sin X is

a) onc- 10 -one b) onto ¢) bijection d) cannot be defined D
4 Let X =123 4. Y =ta.b.c.d} and [ = (I, a). (4. b). (2. ¢). (3. d). (2.d)}. Then fis

a) anone-to-onc function b) an onto function

¢) afunction which is not one-to-one d) nota function D

3. The solution sctof the following inequality | x =11 = | x =3 [is

a) [0.2] b) [2. ) ¢) (0.2) =y []
6. If aand bare the roots of the equation x> —kx +16 -+ 0 and satisfy a* +b* = 32.then the valuc of k

15 .

a) 10 b) -8 c) B8 d) 6 I\V B

7. If 8 and 2 are the roots of x2 +ax +¢ = 0 and 3. 3are the roots of x>+ dx + b = 0. then the roots of
the cquation X~ +ax +b =0 arc
a) I, 2 b) —I. 1 ¢) 9. 1 d) -1, 2 D
8. The valucof fog;5 fog,s27 is

-3 & 1 -1

a) '2 b) '2’ c) . d) 5 D

19

{90
9. I'ind the principal valuc of cosce L ; \.is
J3)
7 -1 s -
b SO
Y3 '3 9 T []

] I 1

| .
a) b . .
' O oy O

. Which of the followine is not true?

1"
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13 18 £(0) - sinO] 4+ [cosO], 0 R . then £7(0) is in the interval
2[00 2 b) 1. V2] ¢) 2] d) 0. 1] D
4 he sumof the digitsatthe 10" place ot all numbers formed with the help of 5 4.5.7 akenall atatimeis
2 432 by 108 ¢) 36 dy 18 L]
are collinear. The number of straight lines joining any two

IS
i

lo.

18.

19.

26.

12
-~

. The sum upto n terms of the series ‘\/-1”+\/; & B+ + NNz \
J ) D

| here are 10 points ina plane and 4 ol'them

;\‘llll\l\
| ¢) 39 | d) 38 ]

4) 4N b) 40
In a plane there are 10 points are there out of which 4 points are collinear, then the number of triangles
formed 1s ,
a) 110 b C, ~ ) 120 d) 116 []
I'he number of rectangles that a chessboardhas .......coooeeve
a) 81 b) ¢ ¢) 1296 d) 6561 []
Thevalucof 2+4+6+...... +2n is

- 2n(2n+1
a) l.](nﬁ 1? b) “("ﬁfll c) n{ ,:]+ ) d) n(n+1) D
I'he sum of an infinite GP is 18. Ifthe firsticrm is 6. thc common ratio is

] 2 : | 3
A - - . d
] iy ]

- 1s

Vv2n+1
) Vil B T &) \an+1-1 g Y2

. [
. The value of'z—!~+ii+6—!~+.,.. is
il (c+1)° (c=1)} ¢ -1
2) 2e p) e Now jc - 9 7270 D
_ Which of the following point lic on the locus of 3% 43y —8x — 12y +17=0
a) (0.0) b) (=2.3) ¢) (1. 2) d) (0.=1) D

N

X
. The length of L from the origin to the line 57 4 =1is

11

a) 5 d); D

If the equation of the base oppositc to the vertex (2. 3)ol an cquilateral triangle is x + v = 2, thenthe

Yoo

5
b) D ¢)

length of aside is

; .
0 (s we 9 oe [
[fone of the lines given by 6x2 — Xy + 4cy2 =() is 3x+4y =0, thenc equals to

a) -3 . b) -1 ¢) 3 d) 1 D

Unit matrix isanexamplcof a......cccoovennnes matrix.

a) scalar b) squarc matrix ¢) diagonal matrix: d) zero matrix D

- 'or any two matrices A and B of suitable orders, we have (AB)' =

2 AB ' '
VoAl by A' B! ¢) BA d) B'A! [:j

[fthere are ni
. ‘ 1interchanoe P (o . . : . ;
anges of tows (columns) ol a matrix A then the determinant of the resulting matrx

kindly send me your key'ahswer to our email idi- Padasalai.det@gmail.gom [j
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. . o log x .
+1. Fmd the dervative y = —=-"= s
C\
oY ;,l,,~l‘t)\- X o 1 T\ | N n et ~1—+vf0“ X
a) LX g b) ¢ ;*Log xJ' ¢) ¢ [x—/.og x] a) X = D
42 J.scc" % dx =
a) sccx+c 'b) cosec’x +c - ¢) cos’ x+c d) tanx+c [_—_l
sec X =
43 | - dx =
7 J'\/coszx
a) tan ' (sinx)+c b) 2sin”'(tanx)+c¢ ©) tan '(cosx)+c ~ d) Sinfl(la“x)ﬂ’D.

44,

45

46

J’”-.\ dx s

[+x ‘
a) \/1—x2+sin"]x+c ) b) sin 'x—ﬁ+c ,
c) Cogix+\/‘1—x2{—\/l—x2%c d) VI-x*+(og [ x+VI-x"|+¢ D
~J'_;X+2 - . s
. Jx* -1
a) \/x2—1_—260g|x+\/x2—l|+c b) sin 'x=20og [x+Vx*-1]+c
) 2(og|x+Vx*—1] —sin"'x+c d) Jx? -1 +200gix+yx* =11 +c¢ D
Cef -

a) 2\/;(1—0‘/;)+c b) 2\/; (c\[“—l)+c ¢) 2eW (1—\/—,‘Z)+c d) QCVVX (\/;f~i)+c|:|

dx =

47. Ninc coins are tossed once. find the probability to get at Ieast two heads are

” 3 i) 256 215
2 356 b)Y ¢ td W Dsse il

48. A matrix is choscn at random from a sct of all matrices of order 2, with elements 0 or | only. The

probability that the determinant of the matrix chosen is non-zcro will be

N

3

16 & 9 []

4

el w
oc

b)

a)

-

R : 1
49. If two events A and B are such that P(A) = l;) and P(ANB) = 7-.1hcn P(ANDB) is

50.

1 _ ] 1 1
. — C | —
&3 A "4 D5 []
If m isa number such that m <5 , then the probability that quadratic cquation 2x> + 2mx +m+1 = 0
has real roots is
1

Q _ T b 5 -6

§9]
|95}

9 ]

()]
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. =50
Choose and write the correct answer: | 50%1
. |
‘heranve of thefunction - 18
I. Therange of the fung s

2

(U9

10.

. 1
a) (gx.—l)d(%."ﬁ} b) L—L;) ‘c) {—1. ]3} d) (—m,—l]U{g.oo) [:l

et £+ ® — R bedefined by f(x)=1-]x]. "Then the range of is

a) . © b)) (o) O (-lw) d) (-0, 1] [ ]
. Therule f( x)lz x* isabijection ifthe domain and the co-domain are given by ‘ X
a) R.R b) R. (0. ) ¢) (0.»). R d) 10, »). [0. ) D
. The number of relations ona sct containing 3 clements is ' )
a) 9 b) 81 ¢) 512 d) 1024 |:|
|x—2]
. If ~—— 20 then x belongs to )
x—-2 _
a) [2,) b) (2. @) ¢) (-.2) d) (2. =) [:]

. The solution sct of the following incquality | x =11 > | x =31 1s

a) (0. 2] b) [2. o) ¢) (0. 2) d (—. 2y [ ]

. Find a so that the sum and product of the roots of the equation 2x 4 8 (a—3)x +3a-35=0arccqualis

a) 1 - f b2 ¢) 0 d) 4 ]

¥

. If aand b are the real roots of the equation X” —kx +¢ = 0. then the distance between the points

(a, 0)and (b. 0) 1s

8 k- 4c b) Jak? —4c ) Jac-k? & Jk-s¢ [ ]

. Whichof the following is not truc?

3 ) ,
a) slin0=—-4~_ . b) cosO=-1 ¢) tan0 =25 d) Scc()zgi l—_‘l

| o . A . B . C .
Ina AABC.if(1) sin i sin = sin > 0 (1) sinA sinB sinC > 0 then
a) both (i) and (ii) arc truc b) only (i) is truc

¢) only (ii)is truc d) ncither (i) nor (i1) is true l:l

. Find the principal solution of cosec () = -2 is

a - ' by . L

6. 6 9 3 4 ]

. Find the length of an arc of a circle of radius 5¢m subtending a central angle measuring 50 is

P ;

cem © o hem d) el cm
5 15 12 D

5 2l
'd) ]2 cm b)

- Thenumberof S digit numbers all digits of which arc odd is
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19.

. Find the value of‘j

T MAT-9

L4 Tnan exami MY Padasalaid %ulliplcchnicu quusti«VWVW.iTlThfﬁnﬁﬂdlmmﬁ 5 choices. Number

of ways in which a student can fail to get all answer correctis

a) 123 b) 124 ¢) 64 d) 63 [:]
A polygon has 90 diagonals. Find the number of'its sides 1$

a) 15 b) 10 | ¢) 25 d) 35 [ ]

A coinis tossed 8 times. How many different sequences of heads and tails are possible?
\ X 10
a) 2 b) 2* ¢) 2 d) 2 []

'n 1

. Find the valucof ¥
¢ value of k (k+1) is

k=1

a) 1—-—— — — d) 1+
n+1 b) n+l ©) n-1 ) n+l
. The value of serics l+ / + lg+—1w0—+... 1S
2 4.8 16

a) 14 b) 7 ) 4 - d)6
The cocfficient of x° inthe series ¢ 2" is l ‘
) 2 N 4 ' » -
a) o - 2) T 1<

3 ) 2 < s ' is

- 8 12 . )
. The coefficient of x* y'? in the expansion of (2x +3y)™ is

. The slope of the line which makes an angle 45° with the linc 3x — v = =5 are

O

D

_ []

a) 0 | b) 23" c) ﬂ““w"f‘ d) ¢, 237 [ ]
L]

[

D

a) I —I b) -l.—z c) L _I) d) 2. ;]
The image of the point (2, 3)—in theline —x =y is ) )
a) ¢3.F2) , b) (3. 2) N2, — 3) ¥ GR)
. The y intercept of the straight line passing through (1. 3) and pcrpcndlcularto 2x—3y+1=0is
3 o1 4 2 2
3 ¥ b3 VAE Do

£

. Which of the following equation is the locus of (at?, 2at)?

: 2 “\
X Y _ XYY - o2 a2 %
) 5=l BgtsEl ¢) x*+y'=a )y =dax []
The arca of thciriénglc formed by the lincs x* —4y* =0 and x =a is

; \/g 2 I > 2 5
> 2 — —a a”
a) <8 b) ) ° 9 9 «/5"t D

. Determinants can be defined only for

a) squarc matrix b) zero matrix ¢) unit matrix d) diagonal matrixr_—l

cos0O sin0 _
—sin0  cos0

a) 0 b) —I ol d) 2 ]

28. Find the area of the triangle whose vertices are (=2, —3), (3, 2) and (-1, —8)

a) 25 square units b) 15 squarc units ¢) 10 squarc units d) 30 square units D
If (1. 2. 4) and (2. — 3A —3) arc the initial and terminal points of the vector f+5}—7ll~. then the

value of A 1sequal to
kindly send me you)r key answer to our )emasll id - Padasalai. net)@gmall .com D
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x f(N=f"(0)=|.thcn £(2) is
'“ b2 ¢) 3

2" -1<x<3
x=3 .thenat x=3.1'(x) is
>3

b) —Pewey T ¢) 0 ~d) does not exist :

)is, 54

DR
© 57y d) 2 [l

in R inwhichdmefunclipn f(x)=|x=1|+|x~—3|+sinx isnotdifferential is

H

Y 2 o) d) 4 T
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( ,\CC; X
13. J - dx -
tan” x—1
11— tan x ']+ tan X
) Zwm‘l——[fm-i\‘-rc b) (og |— I l
T+ tan x| |l—1anx;
| . _l .
o 1 L;lll]\+l e d)l g tanx—1 D
2 T jtanx -1 2 tanx +1
44 'fsin Jx dx =
a) 2 (—\Rcos\/r,\Tstin\/;Hc b) 2 (-\/;cos\/;—‘sin\/;)JrC
c) 2(—\&—sin\/;—cos\/§)+c ' d) 2(—\/;sin x+c05\/;)+0 L—___I
45. ICV: dx =

B 2Vx (-eFyre b) 2k @ —Dre ¢ 20 (-vi)+e d) 26 (x-Dre[]
46. Giventhat P(A)=0.52, P(BB)=0.43 and P(A (\B) = 0.24, find the valuc of P(ANB) is
a) 0.28 b) 0.71 ¢) 0.24 d) 0.29 D

47. If Aand B are mutually exclusive cvents P(A) == and P( B)= 1hcn find P(ANB) is

1
a) b) o dy 1 []

o | —

oo | L

48. Pf‘EJwLEJ:
a) 0 b) 1 ¢) 2 d) 4 D

49. If Aand B are independent then P (A B)
a) P(A)+P(B)-P(AUB) b) P(A)+P(B)
c) P(A)-P(ANB) d) P(A)+P(B) ‘ [:]
50. Abag contains 6 green, 2 white and 7 black balls. If two balls arc drawn 91mullancousl) then the
probability that both are different colours is

68 b 64 73 "
. 88 . RE]
) 105 ) 105 ) 105 D 105 ]
—
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Choose and write the correct answer:
1. If the function f(x) = x | x| definedon [-2. 2], thentherange of the functioh 1s

(OS]

9.

a) [=2,2] b) [-4. 4] ¢) (-2.2) dy (4. 4)
b o ¢ 1 -
. Find the range of the function Teosx_1 S g
1’ 1 , =
a) (—oo.—-)U(l. ®) b) (—oo.—;—}Ul,l, ®) €) (—w, ®) d) [:—. 1
: 3 ' 3 ) kK
.- Therange of the function f(x) = \Lx \’ xe R is
a) [0, 1] b) [0. ») ) [0, D : d) (0. 1)
n(A)=2 and n(BUC) =3 then n[(AxB)U(AxC)] =
a) 28 b) 3* ¢) 6 d) 5
. The number of roots of (x +3)* +(x +3)' =16 is
a) 4 » b) 2 e d) 0
. Thevalue of fog,11+ (og,,13 « (0g,;;15 « (0g,s27 « (0g,,81 is
a) 1 » b) 2 c) 3 d) 4
If [og& 0.25=4, thenthe valuc of x1s
a) 05 b) 2.5 E) W5 : di 1 85
; 9
If X =—= 7+~—] —, then the valuc of k is
(x+2) (x=1). ' x+2 x-1
a) 1 : b) 2 - ¢) 3 d) 4
If cos28° +sin28° =k’ then cos17° is cqual to
k? k* K3
a) — Dy — : c) - d) ——
V2 V2 f B
1. .
i ILel fk(x)zi [smk X +cos* x:l where xeR and k > 1. Then f,(x)—f,(x) =
L] b L ! - 1
. c0S1°+c082°4+c0s3°+...+cos179° =
a) 0 b) 1 c) —1| d) 89
. If cosO =coso, where o e [0, 7], then the general solution is
a) O=nmto,neZ _ b) 0=2nt+a.ne?
) nm+(-)'a.ne’ d) nt - (-)"a.neZ

7!
I'ind the valucof

]

OO0 OooDoo0o g

0 O O

kindly send me your key answer to our email id - Padasalai.net@gmail.com
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4. 16 "C = "C, thenceither x =y or x+y
9 0 | b) 0 ¢) ntl d !
15.1f 0, =+ *C, thenthe valucof ais
92 b) 3 o4 43 L]
16. In 3 fingers. the number of ways four rings can be WOTTLIS veveeernerereseannes ways. ‘
a4 :l b) 3+ c) 68 4] i D
1% 6§ "Cyp > "Cr,forallpossibler,thcnavaluco["nis.
a) 10 by 21 019 - d) 20 1]
18. The sumupto nterms oifthc serics /2 ++/8 + /18 + /32 +.... 18
2 'zz,&:tu b) 2n (n41) 0 _n<3j1) d) 1 NN
19. The rcmamdcr when 38 isdivided by 13 is . ) ‘ '
a) 12 b) 1 ¢)22 : d s []
20. The'coefficient of x° in the series ¢ is A |
2. 3 4 e
a) 3 b)-5 ¢) — 5 d) ¢ []
21. Wlnchof1hcfollowmg,pomthconlhc locusof 3x* +3y? =8x 12y +17=0
a) (0.0) b) (=2.3) c) (. 2) S -d) (0.-1)
22. The intercepts of the perpendicular biscctor of the line segment joining (1, 2) and (3. 4) with coordinatc
axes are .
a) 5.-5 ' b) 5.5 ¢) 5.3 d) 5. -4 ]
23. Ifone of the lines given‘by 6x” =Xy +4cy’ = 0 is 3x+4y = 0.thenc equals to .
a) -3 b) -1 R d) 1 s [
24. The area of the triangle formed by thelines x* —4y’ =( and x=a is .
2 5
a) 2a’ b) \ﬁﬂl . ) ;1\3 d) i/% a’ , D
25. What is the equation of the bisectors ol the angle between the lines ax” + 2hxy+by2 =07
2_ 2 2_y2 22 2 5
DY STy T 9 et 0 STEL®
-26. What must be the matrix X, if 2X +L }:[; ﬂ‘)
1 3] 1 -3 2.6 2 _5
AR ] M Y o} 3 O
10 0
27. Which one of the following is not truc about the matrix | 0 () 0?2
100 s
a) ascalar matrix b) a diagonal matrix
¢) anupper triangular matrix d) alower triangular matrix _ I:]
0 a -—b \ |
28. The valucof the determinantof A =| —a ¢ ] is

C
b —c ()J

a)kindlycsend me your key,answer to our gmil id - Padasalai.net@gmall com D
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d)

g
e ) 8

2x-3

- B)"di‘spontinuous 0 differentiable d).non-zc;ro‘;

B
R
c) does not exist d) o0 - r__l &
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46.

47

48.

49,
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1 ) d} .
) “xt.u=Zx"+5.then —1s
-4 R dx
st g 2 o 2 ispd) = x 2+ [
4) LT 2ax'+13) b)) =~ (2x7+3) c) = X7 (2x7 +15) d) -5 x(
27 77 B 27
If y=mx +c and f(0)={"(0)=1.then f(2) is
) 1 b) 2 g3 d) -3 D
dp )
[f pv=8l.then -~ atv=91s
dv
=
a) | b) -1 c) 2 d) -2 [:I
) [ x +1 when x <2 . )
If f(x) =4 .then {'(2) 1s
12x—-1.  when x22
a) 0 b) 1 ¢) 2 d) docs not exist
I'he numberof pointsin % inwhich the function £/(x) =] x 1] + [ x =3[ +sinx isnot differentiabl
a) 3 b) 2 ¢) | d) 4
J."_'\'( dx is
3(2%%) ginst \
a +¢ = -+ C0 B b C d) . +C
b g 2 ®) 3iop (3x + 5 )R, 2/op § ! 3i0g 2 []
fsin” x dx is
-3 COos 3X 3 COs3X
a) —phRS N ik by ECOS X & — i &
4 2 12
-3 § sk N sin 3x
C) = COSX'+ - 1 -+ d) S1 = i" D

J

If' Aand B3 are mutually exclusive events P(A) -

wh

]

b
Q )

a) C)

o

has real roots s

5

a) b) C)

L9

and P(3) =
g

1

~S

s

LI

* K k& k

:—; .then find Py A) is

d) 1

L]

50. 1f misanumbersuch that m < 5. then the probability that quadratic equation 2x° + 2mx +m +1 = 0

d)

5
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